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1 (i)

 (ii)
Vertex 6 Vertex 1

Vertex 2Vertex 5

Vertex 4 Vertex 3

 (iii)
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2 (i)

 (ii)

 (iii)
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3 (i)

y

x

  Solution:

 (ii)
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3 (i)   SPARE COPY OF GRAPH PAPER FOR QUESTION 3(i)

y

x

  Solution:
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4 (i)

 (ii) Random digits

run 1 1 5 6 4 9 4 6 0 0 9

run 2 8 7 8 6 6 3 2 9 7 1

run 3 2 1 9 4 9 1 8 2 5 1

run 4 6 8 7 9 4 6 0 6 6 8

run 5 6 0 5 7 7 1 7 8 5 1

run 6 6 7 7 9 7 2 2 7 4 7

run 7 5 7 7 3 2 7 1 1 5 5

run 8 0 7 3 9 6 8 0 9 2 3

run 9 9 4 2 9 2 3 2 6 0 1

run 10 2 8 5 8 6 9 1 4 8 3

  Simulation runs

run 1 A

run 2 A

run 3 A

run 4 A

run 5 A

run 6 A

run 7 A

run 8 A

run 9 A

run 10 A

  Probability of exiting at A:  ……….         Probability of exiting at B:  ……….

  Mean number of runs between vertices:  ……….
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 (iii)

 (iv) Random digits
run 1 4 6 5 6 1 1 6 5 2 2
run 2 7 4 1 2 5 2 4 8 8 6
run 3 1 5 8 8 2 7 8 8 9 3
run 4 4 4 8 9 4 1 4 9 1 0
run 5 2 0 3 3 1 5 7 5 1 6
run 6 6 5 3 0 4 5 8 2 9 2
run 7 2 3 5 8 2 3 7 4 7 6
run 8 3 5 1 7 6 9 4 0 4 6
run 9 0 9 1 6 4 2 2 4 5 3
run 10 0 5 0 6 9 1 3 6 0 0

  Simulation runs

run 1 A
run 2 A
run 3 A
run 4 A
run 5 A
run 6 A
run 7 A
run 8 A
run 9 A
run 10 A

  Probability of exiting at A:  ……….

  Probability of exiting at B:  ……….

  Probability of exiting at C:  ……….



8

© OCR 2009

5 (i)

A

E

B

D
C

 (ii)

A

E

B

D
C

  Order of inclusion:

  Total length:
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 (iii)

A

E

B

D
X

C

  Total length:

  Advice:

(iv)
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6 (i)&(ii)

  Minimum completion time:

  Critical activities:
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 (iii)

H
G
F
E
D
C
B
A

  Least time:

  Explanation:

 (iii)   SPARE COPY OF CHART FOR QUESTION 6(iii)

H
G
F
E
D
C
B
A
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